Math 341 Spring 2005
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SHOW ALL YOUR WORK
1. Consider the slope field for the given system

Bonus Quiz FIVE
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(a) 2 points. Determine the type of equilibrium pomt at the origin.
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(b) 4 points. Indicate the trajectories for solutions which start at the initial conditions A =
(—2,0). (USE ARROWS!)
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(c) 4 points. In the space, sketch graphs of z(t) and y(¢) on the same axis for each of the given four
initial conditions. (Therefor you should have four pairs of axes, with 8 curves.) Clearly indicate
what happens as ¢t — oo for each solution.
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